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…understand percentages

Percentage means out of 100. We use percentages – like fractions and decimals – to compare one thing to another. For example:

· [image: image2.jpg]HowW to



20% of business travel is to the Far East

· 40% of business travel is within Europe

· last year there was a 10% increase in the customers who ordered via the website.

Percentages enable us to make comparisons by relating values to 100. For example, if half your customers are under age 30, this is 50% of the customers. 

1/2 =  EQ \f( 1 ,2) x 100 = 50%

Similarly, three-quarters of something can also be expressed as a percentage:

3/4 =  EQ \f( 3 ,4) x 100 = 75%

An analysis showed that, on a particular day, 12 employees returned phone calls to customers within one hour and 28 did not. If we express the results as percentages, it gives us a much clearer picture of how many calls were returned within an hour. 

In our analysis the total number of customers is:

Total = 12 + 28 = 40

The percentage of staff returning calls within an hour was therefore:

 EQ \f( 12 ,40) x 100 =  EQ \f( 3 ,10) x 100 = 30%

Notice how we simplified the fraction 12/40 by dividing the top and bottom of the fraction by 4, so it becomes 3/10
Similarly, the number of staff not returning calls within an hour was:

 EQ \f( 28 ,40) x 100 =  EQ \f( 7 ,10) x 100 = 70%

As a final check, we can see that if 30% returned calls within an hour and 70% did not, the total is 30% + 70% = 100%. When working with percentages, the total should always be 100%.

If we know that 18 employees out of 72 have been trained to use spreadsheets, how can we express this as a percentage?

Write down the fraction, simplify it and then multiply by 100 to express the answer as a percentage:

 EQ \f( 18 ,72) x 100  =  EQ \f( 1 ,4) x 100 = 25%

Try these!

1 Express 3/10 as a percentage.

2 What percentage is 12 of 60?

Finding a percentage

If we know a percentage, we can find out a number or quantity. 

A small company’s statistics suggest that 40% of employees have more than 4 days’ training per year. Out of 130 employees, how many might you expect to have more than 4 days’ training per year?

First we divide the number of employees by 100 to obtain 1%.

1% of the employees = 130/100 = 1.3

Secondly, we multiply this by the percentage we need – in this case 40.

40% = 1.3 x 40 = 52

You can use the same approach to find a percentage increase or decrease. For example, if a printer costs £200 and the price increases by 5%, you:

· work out 1%, which is 200/100 = £2

· multiply this by 5: £2 x 5 = £10

· then add on the increase to get the new price: £200 + £10 = £210

Try these!

The cost of photocopying toner for the first quarter is £1,000. The total budget for toner for the year is £5,000. 

1 What percentage of the total budget was spent in the first quarter?

2 By the end of the second quarter, 40% of the toner budget has been spent. How much money was actually spent?

A percentage is a form of fraction that always has 100 on the bottom (the denominator).





A percentage is a proportion of 100. Percentages always use the ‘%’ sign. 








